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3(a) | Emily Miller manufactures picture frames. Her fixed costs are £12 000 a
year and her variable costs are £4 per frame. Last year she sold 2 500
frames at £10 each.
State the difference between fixed and variable costs.
Award 1 mark for correct definition of fixed costs. AO1 1 mark 1a
Award 1 mark for correct definition of variable costs. AO1 1 mark 1a
Indicative content:
Afixed cost is a cost that is not related to the quantity of goods produced or
sold, such as insurance. It is an overhead.
Avariable cost is a cost that varies with output, for example raw materials.

3 (b) | Calculate the contribution per frame.

Award 1 mark for correct formula. AO1 1 mark 1a
Contribution = selling price — variable cost (£10 - £4)
Award 1 mark for correct answer. AO2 1 mark 1a

£6
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3(c)

Calculate Emily’s break-even output.

Award 1 mark for correct formula.

Break-even output = fixed costs/contribution (£12 000/£6)
Award 1 mark for correct answer.

2000 frames or units.

Do not accept £2 000.

AO1 1mark 1a

AO2 1mark 1a

3(d)

Calculate her profit for last year.
Award 1 mark for correct formula.

Profit = sales revenue — total cost
= (2500 x £10) — (£12 000 + [2 500 x £4])
=£25000 - £22 000

Or profit = total contribution — fixed costs
= (£6 x 2500) —£12 000
=£15000-£12 000

Award 1 mark for correct answer.
£3 000

AO1 1mark 1a

AO2 1mark 1a
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3(e)

Emily expects her fixed costs to increase by 10% this year and her
variable costs to increase by 5%. She expects to sell the same number of
frames and does not intend to increase her prices.

Calculate her profit for this year.

Award 1 mark for correct method. AO1 1 mark 1a
Profit = sales revenue — (fixed costs increase + variable costs increase)

Profit = (2 500 x £10) — ([£12 000+£1 200] + [2 500 x £4.20])

=£25000 - (£13 200 + £10 500)

=£25000-£23 700

Award 1 mark for entering correct figures AO2 2 marks 1a

Award 1 mark for the correct answer.

Profit = £1 300
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4(b)

Calculate her breakeven output per month (show your workings).
Award 1 mark for correct formula AOT: 1 mark
Breakeven = Fixed cost/ (selling price ~ variable cost)

Award 1 mark for correct answer A02: 1 mark

=£115-£065
=£1800/£0.50

=3600 or 3600 units per month
If comect answer is given in £ then allow 1 mark
Award 2 marks for correct answer without workings

4(0)

Calculate her estimated profit or loss for next year.
Award 1 mark for each correct calculation A02: 3 marks
Award 2 marks for calculating contrbution 50 000 x (£1.15 - £0.65) = £25,000
Altematively:
Contribution = Total Revenue ~ Total Variable Costs.
(£57 500 - £32 500) = £25 000 [2 marks]
Award 1 mark for calculating fixed costs (12 x £1800)

=£25000-£21 600
Altematively:
Total Revenue (E50 000 x £1.15 = £57 500) [1 mark] ~ Total Variable Costs
(£50 000 - 0.65 = £32 500) [1 mark] ~ Fixed Costs (12 x £1800 = £21 600) =
£3400
Award 1 mark for calculating profit £3 400 profit
If comect answer s without £ sign then award 2 marks
Apply OFR where relevant
Award 3 marks for correct answer without workings





